B S XHEFRRR2025FHMARE—SRESiRS S8

EERS FEME | BESWE | BESY | FXAR | 2IHX | €Wt | RGeS | SMENERESR | WSR—mEE | WSETRS | iSRS | i
100085210006441 | =*B | 065100 e | 2B%% | 28% | TETH 60 72 243 0 375
100085210003512 | #&*& | 065100 BE | £E%%E | £8% | TER 59 67 242 0 368
100085210000009 | E*& | 065100 BE | 2B%% | 28% | TETH 55 71 220 0 346
100085210007635 | B&*8( | 065100 BYE | 2B%% | 28% | TETHY 60 65 220 0 345
100085210009945 | Z=*% | 065100 BYE | 2B%% | 28% | TETHY 57 73 215 0 345
100085210010315 | {&*# | 065100 BE | £BE%%E | £8% | TEHTR 61 64 217 0 342
100085210009957 | 3*E | 065100 e | 2B%% | 28% | TETHY 49 69 219 0 337
100085210006135 | E*fR | 071200 | REFHASE | 2Eg%E | €84 | TETH 71 70 113 118 372
100085210000722 | 3B*=F 071200 | RIFHAS | £2EB#%E | £B% | TEDUT 61 53 128 128 370
100085210005891 | &=*f3 | 071200 | REFHASE | 2Es%%E | €84 | TEHTH 59 79 94 133 365
100085210004394 B*& 071200 | RIFHAS | £2EBH#*E | £B% | TEDT 65 55 114 127 361
100085210006057 | DZ*F) | 071200 | RIEHEAS | 2EF % | €84 | TETH 56 65 114 124 359
100085210010134 | f&*#f | 071200 | RIZEAS | £E%% | 284 | TEHHY 57 58 116 122 353
100085210006383 & 071200 | REERAS | 2E4%E | 28 | BETTH 61 57 113 120 351
100085210007610 | 3K*E | 071200 | RIZEAS | £E%% | 284 | TETHY 59 45 106 137 347
100085210010562 | XB*F, | 071200 | RFEAR | £E4% | 2B | TEHHY 52 53 123 117 345
100085210007970 | 3K*& 071200 | RIEERASE | £EHE | £8% | BTEWITL 64 41 109 125 339
100085210007465 N 071200 | RIFRASE | £EHFE | £B8H | TEWITL 70 54 101 112 337

FAG, K27




ELRS FEME | IREEWE | BESY | FHXAR | 2IHX | €Wt | RGeS | SMENERES | WSR—mEE | WSETRE | iSRS | i
100085210003815 B> 071200 | RIEERASE | £ESHE | £8% | TEWITL 58 41 114 123 336
100085210007731 | 3B*& | 071200 | RIZEAS | 2E%% | 284 | TETH 58 39 99 134 330
100085210010573 | Z=*3£ | 071200 | RIZEAS | £E%% | 284 | TETHY 57 53 112 108 330
100085210008020 | 3K*f® | 071200 | RIZEAS | 2E%% | 2B | TETH 64 51 95 115 325
100085210007088 | HE*g | 071200 | RIZEAS | £E%% | €84 | TETHY 59 55 93 114 321
100085210005084 g 145100 Y | 2E%E | 28% | TETH 69 72 121 100 362
100085210001450 ZB+a 145100 X1 £EH%E | =8% | LT 56 72 110 123 361
100085210007868 F+ 145100 Y | 2ES%E | £8% | TETTH 55 70 109 118 352
100085210006159 [E* 18 145100 X4 £EH%E | =8% | TET 58 62 100 122 342
100085210006426 | XU*ib 145100 Y | 2ES%E | £8% | TETH 59 62 99 122 342
100085210001449 | ZB*1 145100 XY | 2B%% | 2B% | TETHY 57 49 98 134 338
100085210006160 | #B*2 145100 Y | 2E%E | 28% | TETH 46 72 98 102 318
100085210005085 | Z=*fX 145100 MY | 2B%% | 2B% | TETHY 49 44 90 133 316
100085210010014 & 145100 Y | 2B%% | 28% | TETHY 54 72 91 95 312
100085210005021 | JE*F, 145100 XY | 2B%% | 2B% | TETHY 50 64 9% 101 311
100085210009766 Mg 145100 X4 £EH%E | £8% | TEWT 60 55 73 119 307
100085210010201 | FE*8#& 145100 XY | 2B%% | 2B% | TETHY 55 63 76 108 302
100085210001448 | SB*#f 145100 Y | 2E%E | 28% | TETH 58 49 90 104 301
100085210001451 | R 145100 XY | 2B%% | 2B% | TETHY 48 45 90 100 283
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